
Quadratic Relations Chapter 4 Test Review

1. For each of the following, determine whether the relation is linear, quadratic, or neither.

http://www.youtube.com/watch?v=OCRoD0jZF7o
	a)
	      x
     y
     -3

     -2

     -1

      0

      1

     6

     7

     8

     9

    10


	


	b)
	      x
     y
     -8

     -5

     -2

      1

      4

   -321

   -141

    -33

      3

    -33


	


	c)
	      x
     y
     -7

     -2

      3

      8

     13

     6

     8

    11

    13

    17


	


2. Each of the following are quadratic relations.  State the equation of the quadratic relation in vertex form.

http://www.youtube.com/watch?v=fKWBjWjDTyc
	a)
	      x
     y
     -9

     -7

     -5

     -3

     -1

      1

      3

    -39

    -25

    -15

     -9

     -7

     -9

    -15


	


	b)
	      x
     y
     -4

     -1

      2

      5

      8

     11

     14

    237

    102

     21

     -6

     21

    102

    237


	


3. Graph each of the following parabolas.  Include the vertex in your graph, as well as at least one other point.

a) y = 2(x + 1)² - 3

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


b) y = - ½ (x - 3)² + 2

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


5.
Try page 214 # 6 

http://www.youtube.com/user/belandmath1015?feature=mhum#p/u/3/SxIzhFLMskE
6.
Try page 215 #7

http://www.youtube.com/user/belandmath1015?feature=mhum#p/u/2/b5b7A1GeWD4
7.
Try page 216 #9

http://www.youtube.com/user/belandmath1015?feature=mhum#p/u/1/350DUzyxGzQ
8. Expand and simplify each of the following

http://www.youtube.com/watch?v=IXIR_4LVzr8
a) (x + 5)(x – 3)

b) (2x – 1)(x + 4)

c) (1 – 3x)(2x + 7)

d) (3m + 2)(3m – 2)

9. Factor each of the following trinomials using the sum and product method.  Then, expand and simplify to check your answer.

http://www.youtube.com/watch?v=fuHLgapkS8Y
a) x² + 10x + 24

b) x² + 5x – 36

c) x² - 10x – 24

d) x² - 11x + 28

10. Factor each of the following trinomials.  Since the leading coefficient is not 1, try common factoring first.

http://www.youtube.com/watch?v=uXnQm8InvGU
a) 3x² + 21x + 30

b) 2 x² + 4x – 16

c) 4 x² - 4x – 80

d)
6 x² - 114x + 540

11. Expand and simplify each of the following quadratic equations in order to convert them from vertex form to standard form.

http://www.youtube.com/watch?v=Zam0BypSNHs
a) y = 4 (x + 5)² - 2

b) y = -3 (x - 1)² + 7

c) y = ½ (x + 4)² - 5

d) y = - ⅓ (x - 12)² - 1

